
Instructions for Linbar®,
Multibar® and Unibar®

Part # 111-1, 1311, 1411
Fits 2000-present Softail models.
For 1986-1999, use bracket kit part #111-5
with Linbar or Multibar.

1.

 

Install the top mount of the highway bar using the

 

5/16” x 1” bolt. Install the long spacer between the frame
and the Highway bar. The curved side should be
facing the bar. Do not tighten the bolts yet.

2. Install the 2 lower mounts of the highway bar to the     
 mounting point on the l & r forward controls using the
 3/8” x 1 ¼ ” bolts and nylon locknuts.

 *Note: it may be necessary to loosen up the three torque bolts on
   the L/R side, then secure the forward controls/ floor board brackets
   to the frame to get the lower mounting point to line up.
* Breakout Model: The Weld Nut on the Horn Bracket will need to get drilled out.  

3. Tighten all bolts to manufacturer’s specifications.

4.       Hardware included:
               -1 Hex bolt 5/16 x 8 x 1
               -2 Hex bolts 3/8 x 16 x 11/4

           

      -2 Nylon lock washers 3/8 x 16
               -2 Sae flat washers 5/16
               -4 Sae flat washer 3/8
               -1 3” Curved Spacer

               

               *Bar width: 34 3/4

Front Linbar patent D361311
Front Multibar patent D548142

www.lindbycustom.com
320 E. Crowther Ave., Placentia, CA 92870

Phone (714) 528-0085 • Fax (714) 528-0087


